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Roll NO........cccevvnenenn.

Time allowed : 3 hours Maximum marks : 100
Total number of questions : 6 Total number of printed pages : 8
NOTE : 1. Answer ALL Questions.

2. Tables showing the present value of ¥1 and the present value of an annuity of
<1 for 15 years are annexed.

1. Comment on the following :

@
()
©
©)

The main function of a treasury manager is management of funds efficiently.
Working capital of a firm depends upon the length of its operating cycle.
Dividend and growth are conflicting goals to each other.
Speculation is the prime reason for foreign exchange rate fluctuations.
(5 marks each)

Attempt all parts of either Q.No. 2 or Q.No. 2A

2. Digtinguish between the following :

(@ 'Capital structure' and ‘financia structure'.
(b) 'Systematic risk' and 'unsystematic risk'.
() 'Net present value' and 'internal rate of return'.
(d) 'Commodity derivatives and ‘financial derivatives.
(4 marks each)
OR (Alternate question to Q.No. 2)
2A. (i) Capital asset pricing model is based on certain critical assumptions. Mention any four
assumptions.
(i) Define the following tools with respect to option derivatives :
(@ Dedta
(b) Gamma
() Theta
(d) Vega
(i) State the activities undertaken by merchant bankers.
(iv) Describe the role of information technology in treasury management.
(4 marks each)
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Attempt all parts of either Q.No. 3 or Q.No. 3A

3. (@ Net profit before tax of Acumen Ltd. is¥17,50,000. The company has 1,00,000 equity
shares of face value 10 each, fully paid-up. Current market price of the shares is 385
per share. Income-tax @ 30% applies to the company. Compute the P/E ratio for the
company.

(4 marks)
(b) Zoya Ltd. has obtained capital from the following sources and the specific costs are
given against them :

Type of capital Book value Market value Cost of
(Tin lakh) (Tin lakh) capital (%)
Debentures 4 3.8 5
Preference shares 1 11 8
Equity shares 6 9.0 13
Retained earnings 2 3.0 9
Total E @

You are required to calculate weighted average cost of capital using —
(i) Book vaue weight; and
(i) Market value weight.

(4 marks)

() Equity shares of Shrill Ltd. are being currently sold for 450 per share. Both the call

option and put option for a 3-month period are available for a strike price of I485 at

a premium of I15 per share and 10 per share respectively. Naresh, an investor, wants

to create a straddle position in this share. Find out his net pay-off at expiration of the
option period, if the share price on that day happens to be ¥450 or I525.

(4 marks)
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(d) Following details are available to you for two companies, Beauty Ltd. and

Pretty Ltd. :

Beauty Ltd. Pretty Ltd.
Interna rate of return (%) 15 10
Capitalisation rate (%) 15 10
Earnings per share () 12 10
Cash dividend per share (9) 5 2

Calculate the value of an equity share for the companies.
(4 marks)

OR (Alternate guestion to Q.No. 3)

3A. (i) AdlialLtd. has two aternative projects under consideration. Project-A requires a capital
outlay of ¥1,60,000 and Project-B needs ¥1,80,000. Both are estimated to provide a
cash flow for five years; Project-A : 345,000 per year and Project-B: ¥58,000 per year.
The cost of capital is 10%. Show which project is preferable from the view point of
net present value.
(4 marks)

(i) Priyanka Ltd. has 25,000 shares outstanding at current market price of ¥100 per share.
It belongs to a risk class with capitalisation rate of 20%. The company expects to earn
a net profit of ¥5,00,000 during the year. What will be the price per share if dividend
is not paid ?
(4 marks)

(i) A manufacturing firm has credit sales of I360 lakh and its average collection period
is 30 days. The financial controller estimates bad-debt losses at around 2% of credit
sales. The firm spends<1,40,000 annually on debtors administration. This cost comprises
of telephone and internet bills along with salaries of staff members.

A factoring firm has offered to buy the firm's receivables. The factor will charge 1%
commission and will pay an advance against receivables on an interest @15% p.a. after
withholding 10% as reserve.
What should the firm do ? Assume 360 days in a year.

(8 marks)
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4. (@ A company is considering selective inventory control using the following data :

Item No. Units Unit Cost (9)
1 6,000 4.00
2 61,200 0.05
3 16,800 2.10
4 3,000 6.00
5 55,800 0.20
6 22,680 0.50
7 26,640 0.65
8 14,760 0.40
9 20,520 0.40
10 90,000 0.10
11 29,940 0.30
12 24,660 0.50

Arrange the data for presentation to management for implementation of ABC technique
of inventory management.

4 marks
(b) Kareena Softwares, atechnology firm, hasthree divisions with the following charaéteristics):
Divison Beta Market Value
(Tin lakh)
Personal computers 1.40 120
Software 1.90 160
Computer mainframes 1.00 260
Tota 540

You are required to answer the following —
() What is beta of the equity of the firm ?

(i) What would happen to the beta of equity if the firm divested itself of its
software business ?

If you were asked to value the software business for the divestiture, which beta would
you use in your valuation ? Restrict calculations to two decimal points.

(4 marks)
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Briefly describe the determinants of dividend policy.
(4 marks)

(d) Discuss the measures of financial viability of a project.

5 @

()

(4 marks)

Alliance Ltd. having annual sales of %80 lakh extends 30 days credit period to its debtors.
The variable cost is estimated at 80% on sales and fixed costs are X8 lakh. The company
intends to change the credit policy for which the following information is given :

Credit policy Average collection Annual sales
period (days) (¥in lakh)
A 45 86
B 60 90
C 75 92

Rate of return (pre-tax) required on investment is 20%.

You are required to assess the most profitable policy with the help of incremental approach.
Calculations may be restricted to two decimal points. Assume 365 days in a year.

(8 marks)

Joy Ltd. is supplying goods worth US $1,00,000 to a US importer and the amount is
payable after 4 months time. The current spot rate of US $ is ¥57.68. It is expected
that the rupee will appreciate in the next 4 months and would be quoted at 3¥56.84.
The importer accepts to pay immediately if 2% cash discount is offered by Joy Ltd.
The current borrowing rate is 8% per annum. Advise the course of action.

(8 marks)

6. Himalaya Ltd. approached their banker for working capital requirement. The bank has agreed
to sanction the same by retaining margins as under :

Raw materials 18%
Work-in-progress 30%
Finished goods 20%
Debtors 10%

1/2016/FTFM (N/S) PT.O.
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© 6
Following projections are available :

Estimate ¢
Annual sales 18,00,000
Cost of production 14,40,000
Raw materials purchased 9,35,000
Monthly expenditure 50,000
Anticipated opening stock of raw materials 1,80,000
Anticipated closing stock of raw materials 1,55,000
Inventory norms
Raw material 2 months
Work-in-progress 15 days
Finished goods 1 month

The firm enjoys a credit of 15 days on its purchases and allows one month credit on its
supplies. On sales orders, the company has received an advance of ¥2,50,000.

You are required to calculate —
(@ Working capital required by the company; and
(b) Working capital limits likely to be approved by the banker.

State your assumptions, if any.
(16 marks)

(@)
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